

Packing List



Page 1 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 1</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 2</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 3</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 5</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:			COSCO bk#6439013990			

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

Packing List



Page 2 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 6</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 7</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 8</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 9</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 10</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number COSCO bk#6439013990		
Received Date:						

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 11</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 12</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 13</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 14</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 15</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
COSCO bk#6439013990						

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 16</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 17</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 18</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 19</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 20</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
COSCO bk#6439013990						

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

Packing List **nutrasumma**

Page 5 of 9

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 21</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 22</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 23</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 24</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 25</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 26</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 27</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 28</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 29</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 30</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)		Total Net Weight	see page 9			
		Total Gross Weight				
		Total Case/Pallet				
Received in good condition by (signature)		Total Piece	Bill of Lading/Air Waybill Number			
Received Date:						
COSCO bk#6439013990						

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 31</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 32</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 33</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 34</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 35</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#		
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6		
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 36</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2511719	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Partial Pallet # 37</u> 5 cases, 12 ct per case = 60 60 bottles total Pallet Size: 122*102*19cm	2511719	27.84kg	38kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 38</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 39</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 40</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*193cm	2510269	334.08kg	457kg	
Received in good condition by (print)			Total Net Weight	see page 9		
			Total Gross Weight			
			Total Case/Pallet			
Received in good condition by (signature)			Total Piece	Bill of Lading/Air Waybill Number		
Received Date:						
				COSCO bk#6439013990		

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com

1315 John Reed Ct,
City of Industry, CA 91745
U.S.A.

Sold To: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Shipped to: Qingdao Nutrasumma
Health Technology Co., Ltd.
Room 207, Building 1 No.88, Kaifeng Road,
Shibei District, Qingdao, China

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#				
QNS-25-006D QNS-25-008A		4-Jan-26	Sea	PO1416-4 & -6				
Item#	Description	Quantity Shipped:	Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet			
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Partial Pallet # 41</u> 11 cases, 12 ct per case = 132 132 bottles total Pallet Size: 122*102*39cm	2510269	61.248kg	84kg			
Received in good condition by (print)			Total Net Weight		13,118.208 kg			
			Total Gross Weight		17,945 kg			
			Total Case/Pallet		2356 case/ 41 plt			
Received in good condition by (signature)			Total Piece		28272 pc			
			Bill of Lading/Air Waybill Number					
Received Date:			COSCO bk#6439013990					

Please contact May Yang, Nutrasumma Shipper if there are any problems
with this shipment: 866.866.3993 or May.yy@nutrasumma.com/Denise@nutrasumma.com